1
1

Public Economics 3

Summary notes: Black et al, Chapter 14

Poverty and inequality in SA: fiscal and social policy issues

Learning objective

· Distinguish primary from secondary income distribution & understand redistributive impact of budget on latter

· Explain the calculation of a Gini coefficient

· Identify the excess burden of a subsidy

· Show how subsidy could be welfare enhancing if there are positive externalities associated with consumption of certain goods (eg, food for the poor)

· Distinguish between the impact of a cash transfer and a subsidy in kind

· Show how social transfers may create a disincentive to work

· Identify major trends in racial fiscal incidence in SA, particularly with regard to social spending

· Understand the redistributive impact of some major social policy interventions in SA

14.1  The Distributional Context in South Africa

The national budget is the most NB redistributive mechanism available to the govt.

Especially NB in SA where poverty, socio-economic development and income distribution are key issues.

14.1.1  Poverty and inequality in SA

Poverty high in SA (compared to other middle-income countries). Approx. 25% of population – less than 1$/day.

Income inequality high. 

SA’s Gini coefficient between 1975 and 1991: 0.68 (highest figure recorded anywhere in the world). 

Not much change between 1995 and 2000 – 0.67.

Although income inequality may be decreasing between race groups, it is said to be widening within race groups.

Rising wages for the few combined with high and rising unemployment among Africans. Access to employment is key to escaping poverty. 

Highly uneven patterns of access to social services.

Government faces major challenge.

Still, must guard against unrealistic expectations of the govt’s redistributive power through fiscal policy.

14.1.2  Primary vs secondary income

Primary income = actual value of income received in cash or in kind (incl. subsistence agriculture and transfers) by individual or household

Secondary income = primary income – direct taxation + value of govt. services consumed

Primary incomes are highly unequal along racial lines. 

The govt. can use the budget (esp. social spending) to affect secondary incomes and reduce inequality.

14.2  The role of public finance in redistribution

14.2.1  Government’s distributive role

No. of ways in which the govt. can affect redistribution:

· As a rule-maker – e.g. rules of market competition, rules affecting access to opportunity

· As a controller of prices and wages

· As a market operator – govt. large employer of labour, and purchaser of goods and services

· As an influence on long-term decision making in the economy e.g. where business locates, free-trade zones

· As taxer, supplier of public goods and welfare services, and payer of transfers

· As redistributor of assets

The first four roles affect primary income. The last two influence secondary income through the budget (taxing and spending) – our concern in this chapter.

14.2.2  Government taxation

How tax incidence (economic, rather than just statutory) affects equity discussed already (Ch 9). 

Most progressive tax - income taxes. Also progressive - wealth taxes, some excise duties.  

Most indirect taxes are regressive (attempts to reduce this with zero-rating).

14.2.3  Government spending, subsidies, externalities and income transfers

Redistribution through social spending – includes transfers as well as govt. provided/subsidised goods and services e.g. ed, health, housing.

Should govt. provide subsidies or cash transfers?

Subsidies cause inefficiencies, as do taxes. 

Using consumer surplus analysis again, possible to show that the costs to the state of a subsidy are larger than the benefits (i.e. additional consumer surplus). 

Results in an excess burden.  (See Figure 14.2, p. 219.)

The case for subsidies is stronger if there are externalities.

E.g. society attaches value to improving nutrition of poor. MSB > MPB. (See Figure 14.3, p. 220) 

An in-kind subsidy reduces the cost to the consumer, quantity consumed increases - leading to a socially optimal outcome.

Can a cash transfer achieve the same outcome? No, a cash transfer might be used on other goods and services that society does not attach the same value to (e.g. alcohol, cigarettes).

Subsidies for particular goods therefore more socially desirable than cash transfers.

However, criticised for being paternalistic, and because subsidies are more costly to implement than cash transfers. Nonetheless public support is generally stronger for subsidies than for income transfers.

14.2.4  Asset redistribution

Rapid asset redistribution (often post-revolution) such as land seizures without compensation and nationalization require coercion.

Asset redistribution with compensation is a much slower process (e.g. land reform process in SA compared to Zimbabwe). 

Also, needs to compete with other govt. expenditure priorities such as education.

As a result, it has limited application. Focus here is rather on fiscal redistribution that affects flow rather than stock variables (of course, if recipients save, income redistribution could result in wealth accumulation). 

14.3  Changing patterns of fiscal incidence

Fiscal incidence studies in SA have focused on the racial incidence of taxation and spending.

For non-whites taxation incidence was found to be less than benefit incidence in a number of studies. Shift towards greater social spending on blacks from 1970s lead to net fiscal incidence being more favourable towards blacks by 1980s.

Despite redistribution towards blacks, secondary incomes remained highly skewed.

Impossibility of extending ‘white’ provision levels to whole population due to lack of resources. (Emphasises need for accelerated economic growth.)

Scope for further redistribution through the budget is now limited:

· Taxation already high. 

· Resistance to higher taxes by the more affluent.

· Govt. lacks capacity to deliver services, esp. in rural areas (so for e.g. if the govt. doubles spending on education, will education outcomes double?)

Limits to the budget as an instrument of redistribution because of the extent of racial inequality of primary incomes in SA. 

In SA, social spending dilemma: 

· Rising expectations (with democracy)

· Rising budgetary constraints

· Unequal levels of benefit in the past means that high spending is now required to bring disadvantaged groups up to level of advantaged groups

14.4  Selected policy issues

· School education

· Health

· Social security

· Social welfare Services

· Housing

(Other programmes such as job creation/public works, water and infrastructure provision, tertiary education) 

14.4.1  School education

Education – an important merit good. Spending on education was very skewed under apartheid era.

In post-apartheid era, govt. has eliminated racial barriers to school entry and has tried to equalise teacher-pupil ratios.

But still large differences by race… lack of highly-qualified motivated teachers, large inefficiencies in poorer (esp rural) schools (i.e. output/input ratio low).

How to improve functioning of schools and quality of education? 

14.4.2  Health

Shift in focus to poorer provinces and primary health care. Lowering of costs to certain users (pregnant women and young children).

But quality of health care not very good. Pressure on health care system also increased with HIV/Aids. Still limited access to treatment for HIV positive patients.

14.4.3  Social security

Social security protects against various contingencies, e.g. unemployment, disability, old age.

In SA social security system has 2 main components:

occupational insurance and social assistance

-
Occupational Insurance 

Contributory insurance, protects those in formal employment. 

Occupational retirement insurance: mandatory for most employees to join pension/provident fund. Retirement benefits expanded to most industries.

Coverage still low though in agriculture, trade/catering/accommodation and domestic service. Lower among women who are disproportionately employed in these sectors.

Occupational retirement insurance cannot reach those outside of paid employment or those in uncovered employment (eg. informal sector). 

Add large-scale unemployment to this– at most about 40% of the labour force is covered by private schemes.

Unemployment insurance: applies to workers who have contributed to the UIF and for short-term unemployment only. Workers, employers and at times the govt. contribute – administered by the govt.

Better suited to cyclical unemployment. Cannot deal with the structural unemployment problem in SA. Estimated that only 2.5% of households containing unemployed persons were receiving UIF benefits in 1993. 

Workers’ compensation: employers make contributions to an accident fund. Paid out to workers who are temporarily/permanently disabled as a result of injuries/ illnesses contracted on the job. 

Problems with insurance against risk, which lead to market failure:

· Adverse Selection:  high-risk individuals will subscribe 

· Moral hazard:  existence of insurance will encourage chances of insured event occurring

· Asymmetric information: insurer has insufficient knowledge of insured person’s circumstances

-
Social Assistance

Funded from the national budget. Means-tested to ensure targeting at the poor. Includes: social pension, disability grant and child support grant

Incentive problems that adversely affect behaviour of potential or actual recipients.

The effect of a cash transfer/free provision of a public good on work effort of an eco active person who is also subject to income tax is twofold:

1) The increase in income causes a reduction in hours worked.

2) The tax levied to finance the income transfer can cause a further reduction to hours of work

Govt. needs to be careful in design of transfer programmes. 

Social pensions are an example where disincentive effects do not exist - restricted to those who are not in the labour force.

In SA social pension is the largest assistance grant (R740 a month in 2004). Paid to women of 60 years and older and men of 65 years and older whose private incomes fall below a certain threshold – i.e. they are means-tested.

Disability grants. Paid to those aged 16-65 years. Means–tested and subject to certain medical eligibility criteria.

In the past child allowances were made to single mothers and most black children were excluded. Following the deracialisation of social assistance, benefits were extended to all races and to the care-givers of all children living in poverty, i.e. means-tested. Mothers are not required to be single – could lead to perverse effects. Child support grant (R170 a month in 2004) was initially given to children under age of 7 years, but has since been extended up to 14 years. 

Problems with means testing

A poverty trap can exist at that level of income beyond which transfers/resources received from the stated would be reduced.

Example:  Grant of R100 from state if Y<500. Leads to someone with R500 < Y < R599 possibly being worse-off than someone with Y = R499. Disincentive for low-Y grant recipient to raise income above R499 through work effort. 

Social pension can also act as a disincentive for low-Y worker to contribute to a private pension scheme.

Encourages the withholding of information on income sources.

Means testing also difficult to administer. 

Limits to Social Security

While poor are well-targeted through social assistance grants, not all the poor are reached. 

What about thousands of unemployed and poor people between the ages of 14 and 60/65, who are not disabled, who cannot claim from the UIF, etc?

How to fill the gaps in social security without discouraging the private provision of security or work effect?

Basic Income Grant? Approx. R100 to all (but taken back from rich through higher taxes).

Govt. is reluctant to implement the BIG because of:

· Cost of transferring the grants (R20 per grant per month) to 45 million South Africans.

· It would raise taxation substantially – need R65 billion extra per annum. Through personal income taxes and company taxes or VAT? VAT would need to be increased to 21% for e.g. 

· Increasing VAT would be inflationary.

· Increased personal income tax may lead to increased tax resistance and an outflow of skilled workers.

· May undermine the perception of fiscal discipline important for attracting international investors.

· Many workers (not necessarily high skilled only) may be net contributors.

See articles on pros and cons of the BIG in SA.

14.4.4  Welfare services

Welfare services take up less than 10% of national and provincial welfare budgets (most goes to financing social assistance).

Can be directly provided by govt. or indirectly through the subsidisation of private welfare organisations.

Mainly spending on child, family care and care of elderly and disabled.

During apartheid there was large-scale discrimination in the provision of welfare services. 

Racial disparities translated into inter-provincial inequities, which still persist today despite attempts to redistribute fiscal resources more fairly between provinces.

Lack of capacity and personnel are now a larger constraint than finances in many previously disadvantaged provinces.

Also, movement away from expensive models of institutional care (of the elderly for eg.) to more affordable, preventative, developmental programmes aimed at vulnerable groups such as children and youth.

14.4.5
Housing Subsidisation

Poor consumers spend large proportion of their incomes on housing. Also, many cannot afford or get access to housing. 

Govt. intervention rests on the basic needs argument and on existence of positive externalities.

In SA, the housing backlog in urban areas has been exacerbated by influx control and limited housing construction.

In SA, housing subsidy scheme provides various forms of assistance to households earning less than R3500 a month.

Progress has been slow though because of a number of complications - coordinating the financing, provision of serviced land, selection and involvement of communities and households that qualify. 

Latest estimate is that 1.6 million houses have been built.

Some complaints that quality of housing is poor though, there is no resale market, land is too far away from towns/cities, and households cannot afford services once installed.

15.5  Conclusion

South African fiscal dilemma - typical economic problem of unlimited wants and scarce resources.

Conflict between rising expectations of a mobilised urban workforce and constraints of stagnant middle-income developing country.

( requires reprioritisation of needs via political process

Economic growth is required to sustain redistribution through the budget as needs expand rapidly.

Redistribution through the budget is not enough, though. Need for ‘redistribution’ of primary incomes. Economic growth required so that job creation will pull more people into remunerative activities.

Govt. in a balancing act – short to medium-term need for budgetary redistribution against long-term need for growth and hence job creation. 





























































